1 . 1
P RC" by e

h

A= LB 0w ( £ o4
) N

he | Ao () ‘ M )
2 /, :uf)u\)"" (217

3 (o2 )(Lo.? /oL~

¥ RIS it.2




v
Wb )
A=Y Vw = n*a, , .= 0.5 27 A

. — 2
F:"’*" FL‘IJ\& Y N % - ' . o
NN 7
O r& = ab - 0. T27 ’ffa
(2 A = 2. 0104 . -
10, /A»fjuu;k, M'ﬁwl« CAMC“AL/ M—o-,—’\"‘/ ~

(4 —\Z;‘L‘, vodde L J—s—’»; 49‘(\ 5@:;‘?2(3 4&1»&,&

V\'\lv’l/:\{;:ht

r . -,\ \ys
N C.5ganss e VEe
3 '—.m—vr £ i
"q'a o'r“x|§ .g\/ . .r)-?Xf“ V"
Pl

~N~ = 0.0033C

~
> 217K “ac

’\)\1\: *2 2 = 2‘1 ‘ w‘t -,__(_1)\*/\/0)\[\\“-/&
k‘k{ r’" 7 ‘7 _ W“'qo ‘ -+ .
ST B N
e G 9 Q 3
<. /(‘«Cc +.p JM.LQM ~ L C , oM
o ddaf q_,% < w,@—éwrﬂc &M@L‘ou




NN
A |
I+ _
E= TN S/ SAPE - WP = REET
TZ  9rsrg vl aw
4
] ‘ Py
B, - —BCZ -2y oV
n= n=
P, & h=1, 21
U — 7
£. = —[22. 4V 1S
£, = —30.(eV =2 =
E} = -3, ( «&\/ €
N
-

TN




-

W
q4.

e

T+ Tox V?nwLikf A —fc. "Qrﬂ( C"'“’) ’Bb(\»

oot R hodporr  aher L
| — U

= nk _ nt B* oz
7\ - —— -
Zwle® Z It
=1
Y;‘ = .39 X0 W
Z

.y}

for H,,"\} 4-2 = Y = 2 i

Vi

. ~
LFFX12 o

i

L Lc2+,, =3 =D ¥V,

— 3IT )
o~ R , =) = o= 132X(95




b) Ty tehin Ao 1% 2w~w\i

ey

Can L—L CJQV\L A l V’O‘-vt 4

o
n-"1 —'la n = O\fg

.




AE = — 13 ke\/( _(__,_‘ \
N he™ w™> /
2 PE = -nt.v [ 1N\ = 03s(eV
\ i _I.}
h‘pafl W= ¥
L) pE = -ntv / L 4 Vo giicer
\ J K v.f’./
e~ € s S




L& . X : .
pe > Tletn 2L a~ hond ‘( “Q'LL*
~ e
o h=), h=6
y N e .

NANESY N
’]

- 7 ﬁth‘ N~ (/ (ol $C)

ct

qi_,w . 7—?1:(; -
VR o1 S
K\V;’Jﬁ\c l'vj},,] K: E'—V‘
o J = — 13.(=V - (-Z,:l~."—t.\/)
= 3, 0=eV= 5 IJ’)\(;”‘A.
W\/ v’wj .
a(fs n-= ) B
~ o ,,,,,,,,Q_},A,[h = E‘) - GQ
| | .
) promes = om B H s B2
’ ’ MLF’ s o
c) L= movy:= *
I ) o . i“L r
D) Ko dmvTs dm (BN s 20exT ) = ke
- 6)\,} T T _’;‘ s =23.2.V
“. ‘
N £ ) El = kyu = -p GV [: "jg_‘,_K;Qf\g \\
T \ 24,7
G




)

L)

)

2 .

) o h) 3 ) A=)
L, A TA0q x> fmaexs” .’é:ﬂzm

3, 3‘1;\!4-{’— ? /Ué )((O') ' [ T?"/«J‘/xlo( ‘. IA-COIXIQ’:}
Y, ;(,0'1”* 719 Fxus’ [/, t25 )(to(’ 6.557 xes T

(T i wa R 20%)  20~) )



A(caj ? ( N
Y;‘ - - ‘i"l ] hl&ﬁ__ thao
JAIZQD"” ‘ h{/kﬁb

2 ' z
Ey\ e k& —I—'L = - EE /(C __)_
L( b ; 4 2 k: hY
/b( e
E.= - —-;%ng ! Aoz = e —J—;__
26w Hq "



